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1C
2v We read one or more vowels in L differently from BHS.
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x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1” ”strong=”c/2216|�����������/��
x-morph=”OSHM:HC/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������������|strong=”7597
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”c/251|�/������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/1129|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”4196” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”l/5927|���������/�� x-morph=”OSHM:HR/Vhc” strong=”5921|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.2.0” strong=”5930|�������
a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.2” ”strong=”k/3789|��������/���
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x-morph=”OSHM:HRd/Vqsmsa” x-cantillationLevel=”0.1” ”strong=”b/8451|�������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0” ”strong=”4872|�������
x-morph=”OSHM:HNp” ”strong=”376|����� x-morph=”OSHM:HNcmsc”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 3 strong=”c/3559|����������/��
a” x-morph=”OSHM:HC/Vhw3mp” ”strong=”d/4196|������������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/�������������|strong=”4350” x-morph=”OSHM:HNcfpc/Sp3ms”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”1.1.0” ”strong=”b/367|�������/��� x-morph=”OSHM:HR/Ncfsa”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1”
strong=”m/5971|�������/�� a” x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”1.0”
”strong=”d/776|���������/�� x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1”
”strong=”c/5927|���/� x-morph=”OSHM:HC/Vhw3ms” x-wType=”x-ketiv”
7 8 Adaptations to a Qere which L and BHS, by their design, do not indicate.
strong=”5921|�/������ a” x-morph=”OSHM:HR/Sp3ms” strong=”5930|�������
a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1” strong=”5930|�������
a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0” ”strong=”l/1242|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”c/l/6153|������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”0”� 4 strong=”c/6213|����������/��� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”2282”
x-morph=”OSHM:HNcmsc” ”strong=”d/5521|���������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.0” ”strong=”k/3789|��������/��� x-morph=”OSHM:HRd/Vqsmsa”
x-cantillationLevel=”1” strong=”c/5930|������/�� a” x-morph=”OSHM:HC/Ncfsc”
”strong=”3117|����� x-morph=”OSHM:HNcmsa” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”b/4557|���������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” ”strong=”k/4941|����������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” ”strong=”1697|������
x-morph=”OSHM:HNcmsc”������|strong=”3117” x-morph=”OSHM:HNcmsa”
”strong=”b/3117|��/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 5 strong=”c/310|�������/�� a” x-morph=”OSHM:HC/D”����|strong=”3651”
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0.0” 9 A single word in the
text has been divided for exegesis. strong=”5930|������ a” x-morph=”OSHM:HNcfsc”
”strong=”8548|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”c/l/2320|����������/���/�� x-morph=”OSHM:HC/Rd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”c/l/3605|���/��/�� x-morph=”OSHM:HC/R/Ncmsc”����������|strong=”4150”
x-morph=”OSHM:HNcmpc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”d/6942|�������������/�� x-morph=”OSHM:HTd/VPsmpa”
x-cantillationLevel=”1” ”strong=”c/l/3605|����/��/�� x-morph=”OSHM:HC/R/Ncmsc”
x-cantillationLevel=”0.0.0” ”strong=”5068|����������� x-morph=”OSHM:HVtrmsa”
”strong=”5071|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�

7+ ”strong=”c/5927|���������/�����/� x-morph=”OSHM:HC/Vhw3mp”
8a
9+
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6 ”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.2.0” ”strong=”l/2320|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7637|�����������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”1.2” strong=”2490|��������� c” x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.1” ”strong=”l/5927|���������/�� x-morph=”OSHM:HR/Vhc”
strong=”5930|������� a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/1964|�������/�� x-morph=”OSHM:HC/Ncmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”3245|������� x-morph=”OSHM:HVPp3ms”
x-cantillationLevel=”0”� 7 ”strong=”c/5414|����������/�� x-morph=”OSHM:HC/Vqw3mp”�������|strong=”3701”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”l/2672|���������/��
x-morph=”OSHM:HRd/Vqrmpa” x-cantillationLevel=”1.0” ”strong=”c/l/2796|����������/��/��
x-morph=”OSHM:HC/Rd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/3978|��������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”c/4960|����������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.2.1.0” ”strong=”c/8081|�������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.2.1” ”strong=”l/6722|�����������/�� x-morph=”OSHM:HRd/Ngmpa”
x-cantillationLevel=”0.2.0” ”strong=”c/l/6876|��������/��/�� x-morph=”OSHM:HC/Rd/Ngmpa”
x-cantillationLevel=”0.2” ”strong=”l/935|�������/�� x-morph=”OSHM:HR/Vhc”
”strong=”6086|������ x-morph=”OSHM:HNcmpc” ”strong=”730|���������
x-morph=”OSHM:HNcmpa” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/3844”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�����|strong=”3220” x-morph=”OSHM:HNcmsc” ”strong=”3305|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”k/7558|����������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0.0” ”strong=”3566|���������
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”6539”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� � 8 ”strong=”c/b/8141|��������/��/��
x-morph=”OSHM:HC/Rd/Ncfsa” ”strong=”d/8145|���������/�� x-morph=”OSHM:HTd/Aofsa”
x-cantillationLevel=”1.1.1” ”strong=”l/935|�/������/�� x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”1.1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”d/430|���������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1.0” ”strong=”l/3389|�������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”b/2320|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”d/8145|��������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”1” strong=”2490|��������� c” x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.2.1.3” ”strong=”2216|����������� x-morph=”OSHM:HNp”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������������|strong=”7597
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1.2” ”strong=”c/3442|���������/��
x-morph=”OSHM:HC/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�����������|strong=”3136
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1.1” ”strong=”c/7605|�������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”251|����/����� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.2.1.0” � ”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”c/d/3881|���������/��/�� x-morph=”OSHM:HC/Td/Ngmpa”
x-cantillationLevel=”0.2.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������/���|strong=”d/935”
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.2.0” strong=”m/d/7628|��������/��/��
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a” x-morph=”OSHM:HR/Td/Ncbsa” ”strong=”3389|�������������� x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/5975|������������/��
x-morph=”OSHM:HC/Vhw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/3881”
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0.1.1” strong=”m/1121|�����/��
a” x-morph=”OSHM:HR/Ncmsc” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1.0”
”strong=”c/4605|�/�������/�� x-morph=”OSHM:HC/D/Sd” x-cantillationLevel=”0.1”
”strong=”l/5329|��������/�� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”4399”
x-morph=”OSHM:HNcfsc” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 9 ”strong=”c/5975|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3442|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.1” strong=”1121|�/������� a” x-morph=”OSHM:HNcmpc/Sp3ms”
”strong=”c/251|�/�����/��� x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”1.1.0.0”
”strong=”6934|����������� x-morph=”OSHM:HNp” strong=”c/1121|�/������/��
a” x-morph=”OSHM:HC/Ncmpc/Sp3ms” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”k/259|������/���
x-morph=”OSHM:HR/Acmsa” x-cantillationLevel=”1.1” ”strong=”l/5329|��������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6213 a” x-morph=”OSHM:HVqrmsc”
”strong=”d/4399|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” � strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.1.0” ”strong=”2582|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”1121|����/������
a” x-morph=”OSHM:HNcmpc/Sp3mp” ”strong=”c/251|����/�����/�� x-
morph=”OSHM:HC/Ncmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”d/3881|���������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0”� 10 ”strong=”c/3245|���������/��
x-morph=”OSHM:HC/Vpp3cp” ”strong=”d/1129|��������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1964”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5975|������������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa” ”strong=”3847|�������������
x-morph=”OSHM:HVPsmpa” x-cantillationLevel=”0.2.1.0” ”strong=”b/2689|������������/���
x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”0.2.1” ”strong=”c/d/3881|���������/��/��
x-morph=”OSHM:HC/Td/Ngmpa” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”�������|strong=”623”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0” ”strong=”b/4700|�������������/����
x-morph=”OSHM:HRd/Ncfda” x-cantillationLevel=”0.2” strong=”l/1984|�������/��
b” x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”3027”
x-morph=”OSHM:HNcbdc” x-cantillationLevel=”0.0” ”strong=”1732|��������
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 strong=”c/6030|��������/����
c” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.0.0” strong=”b/1984|�������/���
b” x-morph=”OSHM:HR/Vpc” ”strong=”c/b/3034|�������/��/�� x-morph=”OSHM:HC/R/Vhc”
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”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”2896|����� a” x-
morph=”OSHM:HAamsa” x-cantillationLevel=”1.1” strong=”3588|����� a”
x-morph=”OSHM:HC”�������/���|strong=”l/5769” x-morph=”OSHM:HR/Ncmsa”
strong=”2617|��/������� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1.0” ”strong=”7321|��������� x-morph=”OSHM:HVhp3cp”
”strong=”8643|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1.1”
10We agree with both BHS 1997 and BHQ on an unexpected reading. strong=”1419|���������
a” x-morph=”OSHM:HAafsa” strong=”b/1984|�������/�� b” x-morph=”OSHM:HR/Vpc”
x-cantillationLevel=”0.1.0” ”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” strong=”5921|���� a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”3245|������� x-morph=”OSHM:HVHp3ms”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 12 strong=”c/7227|��������/��
a” x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”1.2.1.1” ”strong=”m/d/3548|����������/��/��
x-morph=”OSHM:HR/Td/Ncmpa” ”strong=”c/d/3881|���������/��/��
x-morph=”OSHM:HC/Td/Ngmpa” strong=”c/7218|��������/�� a” x-morph=”OSHM:HC/Ncmpc”
”strong=”d/1|�������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1.0”
”strong=”d/2205|����������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.2.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”7200|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1004 b” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/7223|���������/��� x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.2.0”
”strong=”b/3245|��/������/��� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”1.2”
”strong=”2088|���� x-morph=”OSHM:HPdxms” strong=”d/1004|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” strong=”b/5869|����/�������/���
a” x-morph=”OSHM:HR/Ncbdc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”1058|��������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0” strong=”b/6963|�����/���
a” x-morph=”OSHM:HR/Ncmsa” strong=”1419|�������� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” strong=”c/7227|��������/�� a” x-morph=”OSHM:HC/Aampa”
x-cantillationLevel=”0.0.0” ”strong=”b/8643|���������/��� x-morph=”OSHM:HR/Ncfsa”
”strong=”b/8057|���������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0”
strong=”l/7311|�������/�� a” x-morph=”OSHM:HR/Vhc” strong=”6963|�����
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 13 ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.2” strong=”5234|����������� a” x-morph=”OSHM:HVhrmpa”
x-cantillationLevel=”1.1.1” strong=”6963|����� a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.1.0” ”strong=”8643|���������� x-morph=”OSHM:HNcfsc”
”strong=”d/8057|����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
strong=”l/6963|�����/�� a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0”
”strong=”1065|������� x-morph=”OSHM:HNcmsc” strong=”d/5971|����/��
10U



22 CONTENTS

a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1” ”strong=”7321|���������� x-morph=”OSHM:HVhrmpa”
x-cantillationLevel=”0.1.0” ”strong=”8643|���������� x-morph=”OSHM:HNcfsa”
strong=”1419|��������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1”
strong=”c/d/6963|������/��/�� a” x-morph=”OSHM:HC/Td/Ncmsa” ”strong=”8085|���������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������/��/���|strong=”l/m/7350” x-morph=”OSHM:HR/R/Aamsa”
x-cantillationLevel=”0”� �4 ”strong=”c/8085|������������/��� x-morph=”OSHM:HC/Vqw3mp”

x-cantillationLevel=”1.1” strong=”6862|������ c” x-morph=”OSHM:HNcmpc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”

”strong=”c/1144|����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”1121 a”
x-morph=”OSHM:HNcmpc” ”strong=”d/1473|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1.0” ”strong=”1129|��������� x-morph=”OSHM:HVqrmpa”
”strong=”1964|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 2 ”strong=”c/5066|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”2216”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”���������|strong=”7218 a” x-morph=”OSHM:HNcmpc”
”strong=”d/1|�������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1”
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.2.0” ”strong=”1129|��������
x-morph=”OSHM:HVqi1cp” strong=”5973|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”k|����/��
x-morph=”OSHM:HRd/Pp2mp” x-cantillationLevel=”1.1” ”strong=”1875|����������
x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”1.0” ”strong=”l/430|����/������/���
x-morph=”OSHM:HR/Ncmpc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/3808|��/�
x-morph=”OSHM:HC/Tn” x-wType=”x-ketiv” 11 � ”strong=”587|����������
x-morph=”OSHM:HPp1cp” ”strong=”2076|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0.1.2” ”strong=”m/3117|�����/�� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”0.1.1” ”+strong=”634|������ x-morph=”OSHM:HNp”
”strong=”634|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”4428|������� x-morph=”OSHM:HNcmsc” ”strong=”804|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”d/5927|���������/��
x-morph=”OSHM:HTd/Vhrmsa” ”strong=”853|���/����� x-morph=”OSHM:HTo/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”6311|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” ”strong=”2216|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”c/3442|���������/��
11+ ”strong=”c/l|��/��/����/� x-morph=”OSHM:HC/R/Sp3ms” x-
cantillationLevel=”0.1.2.0”
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x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.1” ”strong=”c/7605|�������/��
x-morph=”OSHM:HC/Ncmsc” strong=”7218|�������� a” x-morph=”OSHM:HNcmpc”
”strong=”d/1|�������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.0”
”strong=”l/3478|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2”
”strong=”3808|���� x-morph=”OSHM:HTn”���/����|strong=”l” x-morph=”OSHM:HR/Sp2mp”
”strong=”c/l|���/���/�� x-morph=”OSHM:HC/Rd/Pp1cp” x-cantillationLevel=”1.1”
”strong=”l/1129|�������/�� x-morph=”OSHM:HR/Vqc” strong=”1004|�������
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”l/430|���/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp1cp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
strong=”3162|������ a” x-morph=”OSHM:HD” x-cantillationLevel=”0.2.1.0”
”strong=”1129|�������� x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”0.2.1”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”6680|���/������ x-morph=”OSHM:HVpp3ms/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”3566|��������� x-morph=”OSHM:HNp”
”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”6539”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 4 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0” strong=”5971|���
a” x-morph=”OSHM:HNcmsc”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1” ”strong=”7503|���������� x-morph=”OSHM:HVprmpa”
x-cantillationLevel=”1.0” ”strong=”3027|������ x-morph=”OSHM:HNcbdc”
strong=”5971|��� a” x-morph=”OSHM:HNcmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1089|������/�
x-morph=”OSHM:HC/Vprmpa” x-wType=”x-ketiv” 12 ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.0” ”strong=”l/1129|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”� 5 strong=”c/7936|���������/��
a” x-morph=”OSHM:HC/Vqrmpa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0.0” ”strong=”3289|���������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.0” strong=”l/6565|������/�� a” x-morph=”OSHM:HR/Vhc”
”strong=”6098|�/������� x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”3117”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.1.1” ”strong=”3566|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”6539|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”����������|strong=”4438”
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0” ”strong=”1867|������������
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”6539”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 6 ”strong=”c/b/4438|���������/��/��
x-morph=”OSHM:HC/R/Ncfsc” x-cantillationLevel=”1.1.0” ”strong=”325|���������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”b/8462|���������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0” ”strong=”4438|��/���������
12+ ”strong=”c/926|�����������/���������/� x-morph=”OSHM:HC/Vprmpa”
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x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” ”strong=”3789|���������
x-morph=”OSHM:HVqp3cp” ”strong=”7855|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”c/3389|������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� � 7 ”strong=”c/b/3117|�����/��/�� x-morph=”OSHM:HC/R/Ncmpc”
strong=”783|�������������������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”3789|������� x-morph=”OSHM:HVqp3ms” ”strong=”1312|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0” ”strong=”4990|����������
x-morph=”OSHM:HNp” strong=”2870|��������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/7605|�������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”3674|�/���� x-morph=”OSHM:HNcmpc/Pp3ms” x-wType=”x-ketiv”
13 strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”783
a” x-morph=”OSHM:HNp” x-wType=”x-ketiv” 14 ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”6539|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3791|������/�� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”0.1.0” 15 We read one or more accents in L differently
from BHQ. ”strong=”d/5406|�������������/��� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”3789|�������� x-morph=”OSHM:HVqsmsa”
”strong=”762|��������� x-morph=”OSHM:HNgfsa” x-cantillationLevel=”0.0”
”strong=”c/8638|�����������/�� x-morph=”OSHM:HC/VPsmsa” ”strong=”762|���������
x-morph=”OSHM:HNgfsa” x-cantillationLevel=”0”� � 8 strong=”7348|�������
b” x-morph=”OSHM:ANp” ”strong=”1169|������ x-morph=”OSHM:ANcmsc”�������|strong=”2942”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.1” ”strong=”c/8124|����������/��
x-morph=”OSHM:AC/Np” x-cantillationLevel=”1.1.0” ”strong=”5613|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”3790|���������
x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”1.0.0” ”strong=”104|���������
x-morph=”OSHM:ANcfsa” ”strong=”2298|������ x-morph=”OSHM:AAcfsa”
x-cantillationLevel=”1.0” ”strong=”5922|��� x-morph=”OSHM:AR”�������������|strong=”3390”
x-morph=”OSHM:ANp” x-cantillationLevel=”1” strong=”l/783|��������������������/��
b” x-morph=”OSHM:AR/Np” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”3660|��������� x-morph=”OSHM:AD”
x-cantillationLevel=”0”� 9 ”strong=”116|�������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.1.1.0” strong=”7348|������� b” x-morph=”OSHM:ANp”
”strong=”1169|������ x-morph=”OSHM:ANcmsc”�������|strong=”2942”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.1” ”strong=”c/8124|����������/��
x-morph=”OSHM:AC/Np” x-cantillationLevel=”1.1.0” ”strong=”5613|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”c/7606|�������/��
x-morph=”OSHM:AC/Ncmsc” x-cantillationLevel=”1.0” ”strong=”3675|�����/���������
x-morph=”OSHM:ANcmpc/Sp3mp” x-cantillationLevel=”1” ”strong=”1784|�/���������

13+ ”strong=”3674|�/������������/���� x-morph=”OSHM:HNcmpc/Pp3ms” x-
cantillationLevel=”1.1”
14+ strong=”783|��������������������������� a” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.0”
15C
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x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.1.1.1” 16WLC has this
word divided as .���������� strong=”c/671|�/���������������/��
b” x-morph=”OSHM:AC/Ncmpd/Td” x-cantillationLevel=”0.1.1.0” ”strong=”2967|�/������������
x-morph=”OSHM:ANcmpd/Td” ”strong=”670|�/������������ x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”0.1.1” ”strong=”756|����� x-morph=”OSHM:ANgmpc”
x-wType=”x-ketiv” 17 ”strong=”896|��/�������� x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”0.1.0” ”strong=”7801|�/��������������� x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”0.1” ”strong=”1768|���/� x-morph=”OSHM:ATr/Ta”
x-wType=”x-ketiv” 18 ”strong=”5962|�/��������� x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”0”� 10 ”strong=”c/7606|�������/�� x-morph=”OSHM:AC/Ncmsc”
”strong=”524|�/��������� x-morph=”OSHM:ANcfpd/Td” x-cantillationLevel=”1.2.2”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1541|��������
x-morph=”OSHM:AVhp3ms” x-cantillationLevel=”1.2.1” ”strong=”620|�����������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.2.0” ”strong=”7229|�/������
x-morph=”OSHM:AAamsd/Td” ”strong=”c/3358|�/���������/�� x-morph=”OSHM:AC/Aamsd/Td”
x-cantillationLevel=”1.2” ”strong=”c/3488|�������/�� x-morph=”OSHM:AC/Vhp3ms”
”strong=”1994|������� x-morph=”OSHM:APp3mp” x-cantillationLevel=”1.1”
”strong=”b/7149|��������/��� x-morph=”OSHM:AR/Ncfpa” x-cantillationLevel=”1.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”8115|�����������
x-morph=”OSHM:ANp” x-cantillationLevel=”1” ”strong=”c/7606|�������/��
x-morph=”OSHM:AC/Ncmsc” ”strong=”5675|������ x-morph=”OSHM:ANp”�/��������|strong=”5103”
x-morph=”OSHM:ANp/Td” x-cantillationLevel=”0.0” ”strong=”c/3706|��������/��
x-morph=”OSHM:AC/D” x-cantillationLevel=”0”� 11 ”strong=”1836|�������
x-morph=”OSHM:APdxms” x-cantillationLevel=”1.2.0” ”strong=”6573|������������
x-morph=”OSHM:ANcmsc” ”strong=”104|�/����������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”1.2” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.1.0” ”strong=”7972|��������� x-morph=”OSHM:AVqp3mp”
”strong=”5922|���/������ x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”5922|��� x-morph=”OSHM:AR”���������������������|strong=”783
b” x-morph=”OSHM:ANp” x-cantillationLevel=”1.0” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”5649|��/��������
x-morph=”OSHM:ANcmpc/Sp2ms” x-cantillationLevel=”0.0.0” 19 Marks a
place where we agree with BHQ against BHS in reading L. 20 ”strong=”606|�������
x-morph=”OSHM:ANcmsc” ”strong=”5675|������ x-morph=”OSHM:ANp”�/��������|strong=”5103”
x-morph=”OSHM:ANp/Td” x-cantillationLevel=”0.0” ”strong=”c/3706|��������/��
x-morph=”OSHM:AC/D” x-cantillationLevel=”0”� � 12 ”strong=”3046|���������
x-morph=”OSHM:AVQsmsa” x-cantillationLevel=”1.2.0” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” ”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td”
x-cantillationLevel=”1.2” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3062|�/����������

16+
17+ ”strong=”756|�/����������������� x-morph=”OSHM:ANgmpd/Td”
18+ ”strong=”1723|�/�����������/� x-morph=”OSHM:ANgmpd/Td” x-
cantillationLevel=”0.0”
19Q
20q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-morph=”OSHM:ANgmpd/Td” x-cantillationLevel=”1.1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”5559|��������� x-morph=”OSHM:AVqp3mp”
x-cantillationLevel=”1.1.0” ”strong=”4481|��� x-morph=”OSHM:AR”��/��������|strong=”3890”
x-morph=”OSHM:AR/Sp2ms” x-cantillationLevel=”1.1” ”strong=”5922|���/������
x-morph=”OSHM:AR/Sp1cp” ”strong=”858|������ x-morph=”OSHM:AVqp3mp”
x-cantillationLevel=”1.0” ”strong=”l/3390|�����������/�� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”1” ”strong=”7149|�/��������� x-morph=”OSHM:ANcfsd/Td”
”strong=”4779|�/����������� x-morph=”OSHM:AAafsd/Td” ”strong=”c/873|�/�����/�
x-morph=”OSHM:AC/Aafsd/Td” x-wType=”x-ketiv” 21 22 Yathir readings in
L which we have designated as Qeres when both Dothan and BHS list a Qere.
”strong=”1124|��������� x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”0.2”
”strong=”c/7792|����/� x-morph=”OSHM:AC/Ncmpc” x-wType=”x-ketiv”
23 strong=”3635|������ a” x-morph=”OSHM:AVvi3mp” x-wType=”x-ketiv”
24 ”strong=”c/787|�/����������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”0.0” ”strong=”2338|��������� x-morph=”OSHM:AVai3mp”
x-cantillationLevel=”0”� 13 ”strong=”3705|������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.2.1” ”strong=”3046|��������� x-morph=”OSHM:AVQsmsa”
x-cantillationLevel=”1.2.0” ”strong=”1934|�������� x-morph=”OSHM:AVqi3ms”
”strong=”l/4430|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td” x-cantillationLevel=”1.2”
”strong=”1768|����� x-morph=”OSHM:ATr” x-cantillationLevel=”1.1.0.0”
strong=”2006|���� a” x-morph=”OSHM:AC” ”strong=”7149|�/���������
x-morph=”OSHM:ANcfsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxfs”
x-cantillationLevel=”1.1.0” ”strong=”1124|������������ x-morph=”OSHM:AVui3fs”
x-cantillationLevel=”1.1” ”strong=”c/7792|�/����������/�� x-morph=”OSHM:AC/Ncmpd/Td”
x-cantillationLevel=”1.0” strong=”3635|������������������ b” x-morph=”OSHM:AVti3mp”
x-cantillationLevel=”1” ”strong=”4061|��������� x-morph=”OSHM:ANcfsa”�������|strong=”1093”
x-morph=”OSHM:ANcmsa” ”strong=”c/1983|�������/�� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”5415|������������
x-morph=”OSHM:AVqi3mp” x-cantillationLevel=”0.1” ”strong=”c/674|���������/��
x-morph=”OSHM:AC/Ncmsa” ”strong=”4430|��������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”0.0” ”strong=”5142|����������� x-morph=”OSHM:AVhi3ms”
x-cantillationLevel=”0”� 14 ”strong=”3705|������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.2.2” ”strong=”k/3606|�/��� x-morph=”OSHM:AC/C”�������|strong=”6903”
x-morph=”OSHM:AC” x-cantillationLevel=”1.2.1” ”strong=”1768|����� x-
morph=”OSHM:AC”�������|strong=”4416” x-morph=”OSHM:ANcmsc” ”strong=”1965|��/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2.0” ”strong=”4415|����������
x-morph=”OSHM:AVqp1cp” x-cantillationLevel=”1.2” ”strong=”c/6173|��������/��
x-morph=”OSHM:AC/Ncfsc” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”749|���������
x-morph=”OSHM:AAamsa” ”strong=”l|���/��� x-morph=”OSHM:AR/Sp1cp”
21+ ”strong=”c/873|��/����������/���/�����/� x-morph=”OSHM:AC/Aafsd/Td” x-
cantillationLevel=”0.2.0”
22y
23+ ”strong=”c/7792|�/����������/������/� x-morph=”OSHM:AC/Ncmpd/Td”
24+ strong=”3635|������������������ a” x-morph=”OSHM:AVep3mp” x-
cantillationLevel=”0.1”
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x-cantillationLevel=”1.0” ”strong=”l/2370|���������/�� x-morph=”OSHM:AR/Vqc”
x-cantillationLevel=”1” ”strong=”5922|���� x-morph=”OSHM:AR”��������|strong=”1836”
x-morph=”OSHM:APdxms” x-cantillationLevel=”0.1” ”strong=”7972|�����������
x-morph=”OSHM:AVqp1cp” x-cantillationLevel=”0.0” ”strong=”c/3046|�����������/��
x-morph=”OSHM:AC/Vhp1cp” ”strong=”l/4430|�/��������/�� x-morph=”OSHM:ATo/Ncmsd/Td”
x-cantillationLevel=”0”� 15 ”strong=”1768|����� x-morph=”OSHM:AC”
x-cantillationLevel=”1.3.1.1” ”strong=”1240|��������� x-morph=”OSHM:AVpi3ms”
”strong=”b/5609|�����/���� x-morph=”OSHM:AR/Ncmsc”�/���������������|strong=”1799
b” x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.3.1.0” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”2|��/��������� x-morph=”OSHM:ANcmpc/Sp2ms”
x-cantillationLevel=”1.3.1” ”strong=”c/7912|�����������/��� x-morph=”OSHM:AC/Vhi2ms”
x-cantillationLevel=”1.3.0.0” ”strong=”b/5609|������/��� x-morph=”OSHM:AR/Ncmsc”
strong=”1799|��/������������ b” x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.3.0”
”strong=”c/3046|���������/�� x-morph=”OSHM:AC/Vqi2ms” x-cantillationLevel=”1.3”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”7149|�/���������
x-morph=”OSHM:ANcfsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxfs”
x-cantillationLevel=”1.2.1.0” ”strong=”7149|�������� x-morph=”OSHM:ANcfsa”
”strong=”4779|��������� x-morph=”OSHM:AAafsa” x-cantillationLevel=”1.2.1”
”strong=”c/5142|������������/��� x-morph=”OSHM:AC/Vhrfsc” ”strong=”4430|���������
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.2.0” ”strong=”c/4083|��������/��
x-morph=”OSHM:AC/Ncfpa” x-cantillationLevel=”1.2” ”strong=”c/849|��������������/��
x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”5648|���������
x-morph=”OSHM:AVqrmsa” ”strong=”b/1459|��/������/��� x-morph=”OSHM:AR/Ncmsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”4481|��� x-morph=”OSHM:AR”��������|strong=”3118”
x-morph=”OSHM:ANcmpc” x-cantillationLevel=”1.0” ”strong=”5957|�/�������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1” ”strong=”5922|����
x-morph=”OSHM:AR”��������|strong=”1836” x-morph=”OSHM:APdxms”
x-cantillationLevel=”0.1” ”strong=”7149|�/��������� x-morph=”OSHM:ANcfsd/Td”
”strong=”1791|����� x-morph=”OSHM:APdxfs” x-cantillationLevel=”0.0”
”strong=”2718|����������� x-morph=”OSHM:AVHp3fs” x-cantillationLevel=”0”�
16 ”strong=”3046|������������ x-morph=”OSHM:AVhrmpa” ”strong=”586|�����������
x-morph=”OSHM:APp1cp” x-cantillationLevel=”1.2.0” ”strong=”l/4430|�/��������/��
x-morph=”OSHM:ATo/Ncmsd/Td” x-cantillationLevel=”1.2” ”strong=”1768|�����
x-morph=”OSHM:ATr” x-cantillationLevel=”1.1.0.0” strong=”2006|���� a”
x-morph=”OSHM:AC” ”strong=”7149|�/��������� x-morph=”OSHM:ANcfsd/Td”
”strong=”1791|����� x-morph=”OSHM:APdxfs” x-cantillationLevel=”1.1.0”
”strong=”1124|������������ x-morph=”OSHM:AVui3fs” x-cantillationLevel=”1.1”
”strong=”c/7792|�/����������/�� x-morph=”OSHM:AC/Ncmpd/Td” x-
cantillationLevel=”1.0” strong=”3635|������������������ b” x-morph=”OSHM:AVti3mp”
x-cantillationLevel=”1” ”strong=”l/6903|������/�� x-morph=”OSHM:AC/C”
”strong=”1836|������� x-morph=”OSHM:AC” x-cantillationLevel=”0.2”
”strong=”2508|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0.1.0”
”strong=”b/5675|������/��� x-morph=”OSHM:AR/Np” ”strong=”5103|�/�������
x-morph=”OSHM:ANp/Td” x-cantillationLevel=”0.1” ”strong=”3809|����
x-morph=”OSHM:ATn” ”strong=”383|������� x-morph=”OSHM:ATa” x-
cantillationLevel=”0.0” ”strong=”l|��/��� x-morph=”OSHM:AR/Sp2ms” x-
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cantillationLevel=”0”� � 17 ”strong=”6600|�/���������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.2.1.0” ”strong=”7972|������� x-morph=”OSHM:AVqp3ms”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.2.1”
”strong=”5922|��� x-morph=”OSHM:AR”��������|strong=”7348 b” x-
morph=”OSHM:ANp” ”strong=”1169|������ x-morph=”OSHM:ANcmsc”�������|strong=”2942”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2.0” ”strong=”c/8124|����������/��
x-morph=”OSHM:AC/Np” ”strong=”5613|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.2” ”strong=”c/7606|�������/�� x-morph=”OSHM:AC/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”3675|�����/���������� x-morph=”OSHM:ANcmpc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3488|���������
x-morph=”OSHM:AVqrmpa” x-cantillationLevel=”1.0” ”strong=”b/8115|������������/���
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1” ”strong=”c/7606|�������/��
x-morph=”OSHM:AC/Ncmsc” ”strong=”5675|������ x-morph=”OSHM:ANp”�/��������|strong=”5103”
x-morph=”OSHM:ANp/Td” x-cantillationLevel=”0.0.0” ”strong=”8001|�������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0.0” ”strong=”c/3706|������/��
x-morph=”OSHM:AC/D” x-cantillationLevel=”0”� � 18 ”strong=”5407|�/�������������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”7972|������������� x-morph=”OSHM:AVqp2mp”
x-cantillationLevel=”1.0” ”strong=”5922|���/������ x-morph=”OSHM:AR/Sp1cp”
x-cantillationLevel=”1” ”strong=”6568|��������� x-morph=”OSHM:AVpsmsa”
”strong=”7123|������ x-morph=”OSHM:AVQp3ms” x-cantillationLevel=”0.0”
”strong=”6925|�/������� x-morph=”OSHM:AR/Sp1cs” x-cantillationLevel=”0”�
19 ”strong=”c/4481|��/�����/�� x-morph=”OSHM:AC/R/Sp1cs” x-cantillationLevel=”1.4.0”
”strong=”7761|������ x-morph=”OSHM:AVQp3ms” ”strong=”2942|������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.4” ”strong=”c/1240|���������/��
x-morph=”OSHM:AC/Vpp3mp” ”strong=”c/7912|������������/�� x-morph=”OSHM:AC/Vhp3mp”
x-cantillationLevel=”1.3” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.2.0” ”strong=”7149|�/��������� x-morph=”OSHM:ANcfsd/Td”
”strong=”1791|����� x-morph=”OSHM:APdxfs” x-cantillationLevel=”1.2”
”strong=”4481|��� x-morph=”OSHM:AR”��������|strong=”3118” x-morph=”OSHM:ANcmpc”
x-cantillationLevel=”1.1.0” ”strong=”5957|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1” ”strong=”5922|��� x-morph=”OSHM:AR”����������|strong=”4430”
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.0” ”strong=”5376|���������������
x-morph=”OSHM:AVMrfsa” x-cantillationLevel=”1” ”strong=”c/4776|������/��
x-morph=”OSHM:AC/Ncmsa” ”strong=”c/849|��������������/�� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”5648|��������� x-morph=”OSHM:AVusmsa”��/�����|strong=”b”
x-morph=”OSHM:AR/Sp3fs” x-cantillationLevel=”0”� 20 ”strong=”c/4430|���������/��
x-morph=”OSHM:AC/Ncmpa” ”strong=”8624|������������ x-morph=”OSHM:AAampa”
x-cantillationLevel=”1.2.1” ”strong=”1934|������ x-morph=”OSHM:AVqp3mp”
x-cantillationLevel=”1.2.0” ”strong=”5922|��� x-morph=”OSHM:AR”��������������|strong=”3390”
x-morph=”OSHM:ANp” x-cantillationLevel=”1.2” ”strong=”c/7990|�������������/��
x-morph=”OSHM:AC/Aampa” x-cantillationLevel=”1.1” ”strong=”b/3606|����/���
x-morph=”OSHM:AR/Ncmsc” x-cantillationLevel=”1.0” ”strong=”5675|������
x-morph=”OSHM:ANp” ”strong=”5103|�/������� x-morph=”OSHM:ANp/Td”
x-cantillationLevel=”1” ”strong=”c/4061|�������/�� x-morph=”OSHM:AC/Ncfsa”
”strong=”1093|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0.0.0”
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”strong=”c/1983|�������/�� x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3052|���������� x-morph=”OSHM:AVusmsa” ”strong=”l|�����/��
x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”0”� 21 ”strong=”3705|�������
x-morph=”OSHM:AD” x-cantillationLevel=”1.1.0” ”strong=”7761|��������
x-morph=”OSHM:AVqv2mp” ”strong=”2942|������� x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1.1” 25 We read the punctuation in L differently from
BHQ. ”strong=”l/989|���������/�� x-morph=”OSHM:AR/Vpc” x-cantillationLevel=”1.0”
”strong=”1400|�/����������� x-morph=”OSHM:ANcmpd/Td” ”strong=”479|��������
x-morph=”OSHM:APdxmp” x-cantillationLevel=”1” ”strong=”c/7149|�/���������/��
x-morph=”OSHM:AC/Ncfsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxfs”
x-cantillationLevel=”0.1.0” ”strong=”3809|���� x-morph=”OSHM:ATn” ”strong=”1124|�����������
x-morph=”OSHM:AVui3fs” x-cantillationLevel=”0.1” ”strong=”5705|��� x-
morph=”OSHM:AR”�/�������|strong=”4481” x-morph=”OSHM:AR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”2941|�/������� x-morph=”OSHM:ANcmsd/Td”
”strong=”7761|���������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”0”�
22 ”strong=”c/2095|����������/�� x-morph=”OSHM:AC/Aampa” ”strong=”1934|������
x-morph=”OSHM:AVqv2mp” x-cantillationLevel=”1.0.0” ”strong=”7960|�������
x-morph=”OSHM:ANcfsc” x-cantillationLevel=”1.0” ”strong=”l/5648|���������/��
x-morph=”OSHM:AR/Vqc” ”strong=”5922|��� x-morph=”OSHM:AR”��������|strong=”1836”
x-morph=”OSHM:APdxcs” x-cantillationLevel=”1” ”strong=”l/4101|����/��
x-morph=”OSHM:AR/Ti” x-cantillationLevel=”0.1.0” ”strong=”7680|����������
x-morph=”OSHM:AVqi3ms” ”strong=”2257|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.1” ”strong=”l/5142|����������/�� x-morph=”OSHM:AR/Ncfsc”
x-cantillationLevel=”0.0” ”strong=”4430|��������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”0”� � 23 ”strong=”116|�������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.1.2” ”strong=”4481|��� x-morph=”OSHM:AR”������|strong=”1768”
x-morph=”OSHM:ATr” x-cantillationLevel=”1.1.1.0” ”strong=”6573|������������
x-morph=”OSHM:ANcmsc” ”strong=”5407|��/������������ x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.1.0” strong=”783|�������� b” x-morph=”OSHM:ANp”
x-wType=”x-ketiv” 26 ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1” ”strong=”7123|������ x-morph=”OSHM:AVQp3ms”
”strong=”6925|����� x-morph=”OSHM:AR”��������|strong=”7348 b”
x-morph=”OSHM:ANp” x-cantillationLevel=”1.0.0” ”strong=”c/8124|����������/��
x-morph=”OSHM:AC/Np” ”strong=”5613|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.0” ”strong=”c/3675|�����/��������/�� x-morph=”OSHM:AC/Ncmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”236|�������� x-morph=”OSHM:AVqp3mp”
”strong=”b/924|���������/�� x-morph=”OSHM:AR/Ncfsa” ”strong=”l/3390|������������/��
x-morph=”OSHM:AR/Np” x-cantillationLevel=”0.1.0” ”strong=”5922|���
x-morph=”OSHM:AR”�/������������|strong=”3062” x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”0.1” ”strong=”c/989|���������/�� x-morph=”OSHM:AC/Vpp3mp”
”strong=”1994|������� x-morph=”OSHM:APp3mp” x-cantillationLevel=”0.0”
”strong=”b/153|��������/��� x-morph=”OSHM:AR/Ncfsa” ”strong=”c/2429|������/��

25P
26+ strong=”783|��������������������������� b” x-morph=”OSHM:ANp”
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x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”0”� � 24 ”strong=”b/116|�������/���
x-morph=”OSHM:AR/D” x-cantillationLevel=”1.1.1” ”strong=”989|���������
x-morph=”OSHM:AVqp3fs” x-cantillationLevel=”1.1.0” ”strong=”5673|���������
x-morph=”OSHM:ANcfsc” ”strong=”1005|����� x-morph=”OSHM:ANcmsc”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” x-cantillationLevel=”1.0” ”strong=”b/3390|�����������/���
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1” ”strong=”c/1934|������/��
x-morph=”OSHM:AC/Vqp3fs” x-cantillationLevel=”0.2.0” ”strong=”989|����������
x-morph=”OSHM:AVqrfsa” x-cantillationLevel=”0.2” ”strong=”5705|����
x-morph=”OSHM:AR” x-cantillationLevel=”0.1.0” ”strong=”8140|�������
x-morph=”OSHM:ANcfsc” ”strong=”8648|����������� x-morph=”OSHM:AAocpa”
x-cantillationLevel=”0.1” ”strong=”l/4437|���������/�� x-morph=”OSHM:AR/Ncfsc”
x-cantillationLevel=”0.0” ”strong=”1868|������������ x-morph=”OSHM:ANp”
”strong=”4430|������� x-morph=”OSHM:ANcmsc”��������|strong=”6540”
x-morph=”OSHM:ANp” x-cantillationLevel=”0”� �5 ”strong=”c/5013|�����������/�� x-morph=”OSHM:AC/VMp3ms”

x-cantillationLevel=”1.2.1.0” strong=”2292|������� b” x-morph=”OSHM:ANp”
”strong=”5029|�/���� x-morph=”OSHM:ANcmsd/Td” x-wType=”x-ketiv”

27 strong=”c/2148|����������/�� b” x-morph=”OSHM:AC/Np” ”strong=”1247|���
x-morph=”OSHM:ANcmsc”���������|strong=”5714” x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0” ”strong=”5029|�/����� x-morph=”OSHM:ANcmpd/Td”
x-wType=”x-ketiv” 28 ”strong=”5922|��� x-morph=”OSHM:AR”�/������������|strong=”3062”
x-morph=”OSHM:ANgmpd/Td” x-cantillationLevel=”1.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”b/3061|������/�� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”1.0” ”strong=”c/b/3390|�����������/��/�� x-morph=”OSHM:AC/R/Np”
x-cantillationLevel=”1” ”strong=”b/8036|�����/��� x-morph=”OSHM:AR/Ncmsc”
x-cantillationLevel=”0.0.0” ”strong=”426|������� x-morph=”OSHM:ANcmsc”
”strong=”3479|����������� x-morph=”OSHM:ANp” x-cantillationLevel=”0.0”
”strong=”5922|�����/����� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”0”�
� 2 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D” x-cantillationLevel=”1.2.0.1”
”strong=”6966|������ x-morph=”OSHM:AVqp3mp” x-cantillationLevel=”1.2.0.0”
”strong=”2217|����������� x-morph=”OSHM:ANp” ”strong=”1247|����
x-morph=”OSHM:ANcmsc”����������������|strong=”7598” x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0” ”strong=”c/3443|���������/�� x-morph=”OSHM:AC/Np”
”strong=”1247|���� x-morph=”OSHM:ANcmsc”�����������|strong=”3136
b” x-morph=”OSHM:ANp” x-cantillationLevel=”1.2” ”strong=”c/8271|��������/��
x-morph=”OSHM:AC/Vpp3mp” ”strong=”l/1124|��������/�� x-morph=”OSHM:AR/Vqc”
x-cantillationLevel=”1.1” ”strong=”1005|������ x-morph=”OSHM:ANcmsc”
”strong=”426|�/������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”b/3390|������������/��
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1” ”strong=”c/5974|�����/�����/��
x-morph=”OSHM:AC/R/Sp3mp” x-cantillationLevel=”0.0.0” ”strong=”5029|�/�����
27+ ”strong=”5029|�/���������/���� x-morph=”OSHM:ANcmsd/Td” x-
cantillationLevel=”1.2.1”
28+ ”strong=”5029|�/������������/����� x-morph=”OSHM:ANcmpd/Td” x-
cantillationLevel=”1.2”
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x-morph=”OSHM:ANcmpd/Td” x-wType=”x-ketiv” 29 ”strong=”1768|����
x-morph=”OSHM:ATr”�/��������|strong=”426” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0.0” ”strong=”5583|����������� x-morph=”OSHM:AVprmpa”
”strong=”l|�����/�� x-morph=”OSHM:ATo/Sp3mp” x-cantillationLevel=”0”�
� 3 ”strong=”b|��/��� x-morph=”OSHM:AR/Sp3ms”��/�������|strong=”2166”
x-morph=”OSHM:ANcmsd/Td” ”strong=”858|������ x-morph=”OSHM:AVqp3ms”
”strong=”5922|�����/����� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”1.0.0.1”
”strong=”8674|���������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.0.0.0”
”strong=”6347|������� x-morph=”OSHM:ANcmsc” ”strong=”5675|������
x-morph=”OSHM:ANp”�/��������|strong=”5103” x-morph=”OSHM:ANp/Td”
x-cantillationLevel=”1.0.0” ”+strong=”c/8370|�������/�� x-morph=”OSHM:AC/Np”
”strong=”8370|���������� x-morph=”OSHM:ANp” x-cantillationLevel=”1.0”
”strong=”c/3675|�����/��������/�� x-morph=”OSHM:AC/Ncmsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3652|����/�� x-morph=”OSHM:AC/D”
x-cantillationLevel=”0.2.0” ”strong=”560|��������� x-morph=”OSHM:AVqrmpa”
”strong=”l|����/�� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”0.2”
”strong=”4479|��� x-morph=”OSHM:APi3ms”������|strong=”7761” x-
morph=”OSHM:AVqp3ms” ”strong=”l|����/�� x-morph=”OSHM:AR/Sp2mp”
x-cantillationLevel=”0.1.1.0” ”strong=”2942|������ x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”0.1.1” ”strong=”1005|�/�������� x-morph=”OSHM:ANcmsd/Td”
”strong=”1836|������ x-morph=”OSHM:APdxms” x-cantillationLevel=”0.1.0”
”strong=”l/1124|�������/�� x-morph=”OSHM:AR/Vqc” x-cantillationLevel=”0.1”
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x-cantillationLevel=”1.2.1.0” strong=”2006|���� a” x-morph=”OSHM:AC”
”strong=”5922|��� x-morph=”OSHM:AR”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” ”strong=”2869|���� x-morph=”OSHM:AAamsa”
x-cantillationLevel=”1.2.1” ”strong=”1240|������������ x-morph=”OSHM:AVMi3ms”
x-cantillationLevel=”1.2.0.1” ”strong=”b/1005|�����/��� x-morph=”OSHM:AR/Ncmsc”
”strong=”1596|�/����������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1.2.0.0”
”strong=”1768|���� x-morph=”OSHM:ATr”�/���������|strong=”4430”
x-morph=”OSHM:ANcmsd/Td” ”strong=”8536|������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.2.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”b/895|������/���
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.2” strong=”2006|���� a”
x-morph=”OSHM:AC” ”strong=”383|������� x-morph=”OSHM:ATa” x-cantillationLevel=”1.1.1”
”strong=”1768|����� x-morph=”OSHM:ATr”����|strong=”4481” x-morph=”OSHM:AR”����������|strong=”3567”
x-morph=”OSHM:ANp” ”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1.0” ”strong=”7761|������ x-morph=”OSHM:AVQp3ms”
”strong=”2942|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1”
”strong=”l/1124|��������/�� x-morph=”OSHM:AR/Vqc” x-cantillationLevel=”1.0.0”
”strong=”1005|����� x-morph=”OSHM:ANcmsc”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxms”
x-cantillationLevel=”1.0” ”strong=”b/3390|�����������/��� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”1” ”strong=”c/7470|�������/�� x-morph=”OSHM:AC/Ncfsc”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0.0”
”strong=”5922|��� x-morph=”OSHM:AR”��������|strong=”1836” x-morph=”OSHM:APdxcs”
x-cantillationLevel=”0.0” ”strong=”7972|��������� x-morph=”OSHM:AVqi3ms”
”strong=”5922|���/������ x-morph=”OSHM:AR/Sp1cp” x-cantillationLevel=”0”�
�6 ”strong=”b/116|�������/��� x-morph=”OSHM:AR/D” x-cantillationLevel=”1.0.0”

”strong=”1868|������������ x-morph=”OSHM:ANp” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.0” ”strong=”7761|�����

x-morph=”OSHM:AVqp3ms” ”strong=”2942|������ x-morph=”OSHM:ANcmsa”
x-cantillationLevel=”1” ”strong=”c/1240|���������/�� x-morph=”OSHM:AC/Vpp3mp”
x-cantillationLevel=”0.0.1.0” � ”strong=”b/1005|�����/��� x-morph=”OSHM:AR/Ncmsc”
”strong=”5609|�/���������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.0.1”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1596|�/����������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.0.0” ”strong=”5182|�����������
x-morph=”OSHM:AVhsmpa” ”strong=”8536|�������� x-morph=”OSHM:AD”
x-cantillationLevel=”0.0” ”strong=”b/895|������/��� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”0”� 2 ”strong=”c/7912|������������/�� x-morph=”OSHM:AC/Vup3ms”
”strong=”b/307|����������/��� x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.0.2”
”strong=”b/1001|�/���������/��� x-morph=”OSHM:AR/Ncfsd/Td” x-
cantillationLevel=”1.0.1” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.0.0” ”strong=”b/4076|������/��� x-morph=”OSHM:AR/Np”
”strong=”4083|�/����������� x-morph=”OSHM:ANcfsd/Td” x-cantillationLevel=”1.0”
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”strong=”4040|��������� x-morph=”OSHM:ANcfsa” ”strong=”2298|������
x-morph=”OSHM:AAcfsa” x-cantillationLevel=”1” ”strong=”c/3652|���/��
x-morph=”OSHM:AC/D”���������|strong=”3790” x-morph=”OSHM:AVQp3ms”
”strong=”b/1459|��/������/��� x-morph=”OSHM:AR/Ncmsc/Sp3fs” x-
cantillationLevel=”0.0” strong=”1799|�/����������� a” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� � 3 ”strong=”b/8140|�������/��� x-morph=”OSHM:AR/Ncfsc”
”strong=”2298|������ x-morph=”OSHM:AAcfsa” x-cantillationLevel=”1.3.1.0”
”strong=”l/3567|��������/�� x-morph=”OSHM:AR/Np” ”strong=”4430|�/��������
x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”1.3.1” ”strong=”3567|���������
x-morph=”OSHM:ANp” ”strong=”4430|��/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.3.0” ”strong=”7761|����� x-morph=”OSHM:AVqp3ms”
”strong=”2942|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.3”
”strong=”1005|����� x-morph=”OSHM:ANcmsc”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” ”strong=”b/3390|�����������/��� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”1.2.0” ”strong=”1005|�/�������� x-morph=”OSHM:ANcmsd/Td”
”strong=”1124|����������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”1.2”
”strong=”870|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.0”
”strong=”1768|����� x-morph=”OSHM:ATr”����������|strong=”1684”
x-morph=”OSHM:AVqrmpa” ”strong=”1685|���������� x-morph=”OSHM:ANcmpa”
x-cantillationLevel=”1.1” ”strong=”c/787|���/��������/�� x-morph=”OSHM:AC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”5446|������������� x-morph=”OSHM:AVssmpa”
x-cantillationLevel=”1” ”strong=”7314|���/����� x-morph=”OSHM:ANcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”521|�������� x-morph=”OSHM:ANcfpa”
”strong=”8361|��������� x-morph=”OSHM:AAcbsa” x-cantillationLevel=”0.1”
”strong=”6613|��/�������� x-morph=”OSHM:ANcmsc/Sp3ms” x-cantillationLevel=”0.0”
”strong=”521|�������� x-morph=”OSHM:ANcfpa” ”strong=”8361|���������
x-morph=”OSHM:AAcbsa” x-cantillationLevel=”0”� 4 ”strong=”5073|������������
x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.1.0.0” ”strong=”1768|����
x-morph=”OSHM:ATr”�������|strong=”69” x-morph=”OSHM:ANcfsc” ”strong=”1560|�������
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.0” ”strong=”8532|���������
x-morph=”OSHM:AAcbsa” x-cantillationLevel=”1.1” ”strong=”c/5073|����������/��
x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”1.0” ”strong=”1768|����
x-morph=”OSHM:ATr”�����|strong=”636” x-morph=”OSHM:ANcmsa” ”strong=”2323|������
x-morph=”OSHM:AAamsa” x-cantillationLevel=”1” ”strong=”c/5313|�/����������/��
x-morph=”OSHM:AC/Ncfsd/Td” x-cantillationLevel=”0.1” ”strong=”4481|���
x-morph=”OSHM:AR”�������|strong=”1005” x-morph=”OSHM:ANcmsc”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.0”
”strong=”3052|����������� x-morph=”OSHM:AVui3fs” x-cantillationLevel=”0”�
5 ”strong=”c/638|���/��� x-morph=”OSHM:AC/Ta” x-cantillationLevel=”1.1.0.0”
”strong=”3984|������� x-morph=”OSHM:ANcmpc” ”strong=”1005|����
x-morph=”OSHM:ANcmsc”��/�������|strong=”426” x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”1.1.0” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”1722|�/�������
x-morph=”OSHM:ANcmsd/Td” ”strong=”c/3702|��/�������/�� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”5020|�����������������
x-morph=”OSHM:ANp” x-cantillationLevel=”1.0.1” ”strong=”5312|���������
x-morph=”OSHM:AVhp3ms” x-cantillationLevel=”1.0.0” ”strong=”4481|���
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x-morph=”OSHM:AR”�/���������|strong=”1965” x-morph=”OSHM:ANcmsd/Td”
”strong=”1768|��� x-morph=”OSHM:ATr”�����������/���|strong=”b/3390”
x-morph=”OSHM:AR/Np” x-cantillationLevel=”1.0” ”strong=”c/2987|�������/��
x-morph=”OSHM:AC/Vhp3ms” ”strong=”l/895|������/�� x-morph=”OSHM:AR/Np”
x-cantillationLevel=”1” ”strong=”8421|������������ x-morph=”OSHM:AVhi3mp”
x-cantillationLevel=”0.1.1” ”strong=”c/1946|�����/��� x-morph=”OSHM:AC/Vqi3ms”
x-cantillationLevel=”0.1.0.0” ”strong=”l/1965|�/��������/�� x-morph=”OSHM:AR/Ncmsd/Td”
”strong=”1768|��� x-morph=”OSHM:ATr”������������/���|strong=”b/3390”
x-morph=”OSHM:AR/Np” x-cantillationLevel=”0.1.0” ”strong=”l/870|��/�������/��
x-morph=”OSHM:AR/Ncmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/5182|������/��
x-morph=”OSHM:AC/Vai2ms” x-cantillationLevel=”0.0” ”strong=”b/1005|�����/���
x-morph=”OSHM:AR/Ncmsc” ”strong=”426|�/������� x-morph=”OSHM:ANcmsd/Td”
x-cantillationLevel=”0”� � 6 ”strong=”3705|������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.2.0.2” ”strong=”8674|���������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0.1” ”strong=”6347|������� x-morph=”OSHM:ANcmsc”
”strong=”5675|������ x-morph=”OSHM:ANp”�/��������|strong=”5103”
x-morph=”OSHM:ANp/Td” x-cantillationLevel=”1.2.0.0” ”+strong=”8370|�������
x-morph=”OSHM:ANp” ”strong=”8370|���������� x-morph=”OSHM:ANp”
x-cantillationLevel=”1.2.0” ”strong=”c/3675|�����/���������/�� x-morph=”OSHM:AC/Ncmpc/Sp3mp”
x-cantillationLevel=”1.2” 36We read one or more accents in L differently from
BHQ. strong=”671|�/������������� a” x-morph=”OSHM:ANcmpd/Td”
x-cantillationLevel=”1.1” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.0” ”strong=”b/5675|������/��� x-morph=”OSHM:AR/Np”
”strong=”5103|�/������� x-morph=”OSHM:ANp/Td” x-cantillationLevel=”1”
”strong=”7352|���������� x-morph=”OSHM:AAampa” ”strong=”1934|������
x-morph=”OSHM:AVqv2mp” x-cantillationLevel=”0.0” ”strong=”4481|���
x-morph=”OSHM:AR”���������|strong=”8536” x-morph=”OSHM:AD” x-
cantillationLevel=”0”� 7 ”strong=”7662|��������� x-morph=”OSHM:AVqv2mp”
x-cantillationLevel=”1.1” ”strong=”l/5673|���������/�� x-morph=”OSHM:ATo/Ncfsc”
x-cantillationLevel=”1.0” ”strong=”1005|����� x-morph=”OSHM:ANcmsc”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxms”
x-cantillationLevel=”1” ”strong=”6347|������� x-morph=”OSHM:ANcmsc”
”strong=”3062|��/��������� x-morph=”OSHM:ANgmpd/Td” x-cantillationLevel=”0.1.0”
”strong=”c/l/7868|�������/��/�� x-morph=”OSHM:AC/R/Ncmpc” ”strong=”3062|�/����������
x-morph=”OSHM:ANgmpd/Td” x-cantillationLevel=”0.1” ”strong=”1005|�����
x-morph=”OSHM:ANcmsc”�/��������|strong=”426” x-morph=”OSHM:ANcmsd/Td”
”strong=”1791|����� x-morph=”OSHM:APdxms” x-cantillationLevel=”0.0”
”strong=”1124|��������� x-morph=”OSHM:AVqi3mp” ”strong=”5922|���
x-morph=”OSHM:AR”��/��������|strong=”870” x-morph=”OSHM:ANcmsc/Sp3ms”
x-cantillationLevel=”0”� 8 ”strong=”c/4481|��/�����/�� x-morph=”OSHM:AC/R/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”7761|������ x-morph=”OSHM:AVQp3ms”
”strong=”2942|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2”
”strong=”l/3964|����/�� x-morph=”OSHM:AR/Pfxcs” ”strong=”1768|����
x-morph=”OSHM:ATr”�������������|strong=”5648” x-morph=”OSHM:AVqi2mp”
36C
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x-cantillationLevel=”1.1.1” ”strong=”5974|��� x-morph=”OSHM:AR”��������|strong=”7868”
x-morph=”OSHM:ANcmpc” ”strong=”3062|��/��������� x-morph=”OSHM:ANgmpd/Td”
x-cantillationLevel=”1.1.0” ”strong=”479|�������� x-morph=”OSHM:APdxmp”
x-cantillationLevel=”1.1” ”strong=”l/1124|��������/�� x-morph=”OSHM:AR/Vqc”
x-cantillationLevel=”1.0” ”strong=”1005|����� x-morph=”OSHM:ANcmsc”�/��������|strong=”426”
x-morph=”OSHM:ANcmsd/Td” ”strong=”1791|����� x-morph=”OSHM:APdxms”
x-cantillationLevel=”1” ”strong=”c/m/5232|���������/��/�� x-morph=”OSHM:AC/R/Ncmpc”
”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td” x-cantillationLevel=”0.1.2”
”strong=”1768|����� x-morph=”OSHM:ATr” x-cantillationLevel=”0.1.1” ”strong=”4061|�������
x-morph=”OSHM:ANcfsc” x-cantillationLevel=”0.1.0” ”strong=”5675|������
x-morph=”OSHM:ANp” ”strong=”5103|�/������� x-morph=”OSHM:ANp/Td”
x-cantillationLevel=”0.1” ”strong=”629|������������� x-morph=”OSHM:AD”
x-cantillationLevel=”0.0.2” ”strong=”5313|�/��������� x-morph=”OSHM:ANcfsd/Td”
x-cantillationLevel=”0.0.1” ”strong=”1934|��������� x-morph=”OSHM:AVqi3fs”
”strong=”3052|������������� x-morph=”OSHM:AVusfsa” x-cantillationLevel=”0.0.0”
”strong=”l/1400|�/����������/�� x-morph=”OSHM:AR/Ncmpd/Td” ”strong=”479|��������
x-morph=”OSHM:APdxmp” x-cantillationLevel=”0.0” ”strong=”1768|����
x-morph=”OSHM:AC”�����|strong=”3809” x-morph=”OSHM:ATn” ”strong=”l/989|���������/��
x-morph=”OSHM:AR/Vpc” x-cantillationLevel=”0”� 9 ”strong=”c/4101|����/��
x-morph=”OSHM:AC/Pfxcs” strong=”2818|��������� b” x-morph=”OSHM:ANcfpa”
x-cantillationLevel=”0.0.2.5” ”strong=”c/1123|������/�� x-morph=”OSHM:AC/Ncmpc”
”strong=”8450|�������� x-morph=”OSHM:ANcmpa” ”strong=”c/1798|���������/��
x-morph=”OSHM:AC/Ncmpa” ”strong=”c/563|����������/�� x-morph=”OSHM:AC/Ncmpa”
x-cantillationLevel=”0.0.2.4” � ”strong=”l/5928|��������/�� x-morph=”OSHM:AR/Ncfpa”
x-cantillationLevel=”0.0.2.3” � ”strong=”l/426|�������/�� x-morph=”OSHM:AR/Ncmsc”
”strong=”8065|�/��������� x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”0.0.2.2”
”strong=”2591|��������� x-morph=”OSHM:ANcfpa” x-cantillationLevel=”0.0.2.1”
”strong=”4416|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”0.0.2.0”
� ”strong=”2562|������ x-morph=”OSHM:ANcmsa” ”strong=”c/4887|�������/��
x-morph=”OSHM:AC/Ncmsa” x-cantillationLevel=”0.0.2” ”strong=”k/3983|�������/���
x-morph=”OSHM:AR/Ncmsc” ”strong=”3549|�/����������� x-morph=”OSHM:ANcmpd/Td”
”strong=”1768|��� x-morph=”OSHM:ATr”������������/���|strong=”b/3390”
x-morph=”OSHM:AR/Np” x-cantillationLevel=”0.0.1” ”strong=”1934|��������
x-morph=”OSHM:AVqi3ms” ”strong=”3052|���������� x-morph=”OSHM:AVusmsa”
”strong=”l|����/�� x-morph=”OSHM:AR/Sp3mp” x-cantillationLevel=”0.0.0”
”strong=”3118|����� x-morph=”OSHM:ANcmsa” � ”strong=”b/3118|�����/���
x-morph=”OSHM:AR/Np” x-cantillationLevel=”0.0” ”strong=”1768|���� x-
morph=”OSHM:AC”�����|strong=”3809” x-morph=”OSHM:ATn” ”strong=”7960|�������
x-morph=”OSHM:ANcfsa” x-cantillationLevel=”0”� 10 ”strong=”1768|�����
x-morph=”OSHM:AC”���������|strong=”1934” x-morph=”OSHM:AVqi3mp”
”strong=”7127|������������� x-morph=”OSHM:AVhrmpa” x-cantillationLevel=”1.0.0”
”strong=”5208|����������� x-morph=”OSHM:ANcmpa” x-cantillationLevel=”1.0”
”strong=”l/426|�������/�� x-morph=”OSHM:AR/Ncmsc” ”strong=”8065|�/���������
x-morph=”OSHM:ANcmpd/Td” x-cantillationLevel=”1” ”strong=”c/6739|�����������/��
x-morph=”OSHM:AC/Vprmpa” x-cantillationLevel=”0.1” ”strong=”l/2417|�������/��
x-morph=”OSHM:AR/Ncmpc” ”strong=”4430|�/�������� x-morph=”OSHM:ANcmsd/Td”
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x-cantillationLevel=”0.0” ”strong=”c/1123|���/������/�� x-morph=”OSHM:AC/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 11 ”strong=”c/4481|��/�����/�� x-morph=”OSHM:AC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.3.0” ”strong=”7761|������ x-morph=”OSHM:AVQp3ms”
”strong=”2942|������ x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.3”
”strong=”1768|����� x-morph=”OSHM:ATr” ”strong=”3606|��� x-morph=”OSHM:ANcmsc”��������|strong=”606”
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.2.1” ”strong=”1768|�����
x-morph=”OSHM:ATr” ”strong=”8133|����������� x-morph=”OSHM:AVhi3ms”
x-cantillationLevel=”1.2.0” ”strong=”6600|�/���������� x-morph=”OSHM:ANcmsd/Td”
”strong=”1836|������ x-morph=”OSHM:APdxms” x-cantillationLevel=”1.2”
”strong=”5256|���������� x-morph=”OSHM:AVui3ms” ”strong=”636|����
x-morph=”OSHM:ANcmsa” x-cantillationLevel=”1.1.0” ”strong=”4481|���
x-morph=”OSHM:AR”��/���������|strong=”1005” x-morph=”OSHM:ANcmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/2211|�������/�� x-morph=”OSHM:AC/VQsmsa”
x-cantillationLevel=”1.0” ”strong=”4223|���������� x-morph=”OSHM:AVui3ms”
”strong=”5922|���/����� x-morph=”OSHM:AR/Sp3ms” x-cantillationLevel=”1”
”strong=”c/1005|��/�������/�� x-morph=”OSHM:AC/Ncmsc/Sp3ms” x-
cantillationLevel=”0.0.0” ”strong=”5122|�������� x-morph=”OSHM:ANcfsa”
”strong=”5648|���������� x-morph=”OSHM:AVui3ms” x-cantillationLevel=”0.0”
”strong=”5922|��� x-morph=”OSHM:AR”��������|strong=”1836” x-morph=”OSHM:APdxcs”
x-cantillationLevel=”0”� 12 ”strong=”c/426|�/������/��� x-morph=”OSHM:AC/Ncmsd/Td”
x-cantillationLevel=”1.0.4.0” ”strong=”1768|����� x-morph=”OSHM:ATr”
”strong=”7932|�������� x-morph=”OSHM:AVpp3ms” ”strong=”8036|��/������
x-morph=”OSHM:ANcmsc/Sp3ms” ”strong=”8536|�������� x-morph=”OSHM:AD”
x-cantillationLevel=”1.0.4” ”strong=”4049|��������� x-morph=”OSHM:AVpi3ms”
x-cantillationLevel=”1.0.3.0” ”strong=”3606|���� x-morph=”OSHM:ANcmsc”��������|strong=”4430”
x-morph=”OSHM:ANcmsa” ”strong=”c/5972|����/�� x-morph=”OSHM:AC/Ncmsa”
x-cantillationLevel=”1.0.3” ”strong=”1768|����� x-morph=”OSHM:ATr” x-
cantillationLevel=”1.0.2.0” � ”strong=”7972|��������� x-morph=”OSHM:AVqi3ms”
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”strong=”1431|�������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0”
”strong=”5704|���� x-morph=”OSHM:HR” ”strong=”l/8064|����������/��
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”� 7 ”strong=”m/3117|�����/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”1|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1.1.1” ”strong=”587|����������� x-morph=”OSHM:HPp1cp”
x-cantillationLevel=”1.1.0” ”strong=”b/819|���������/��� x-morph=”OSHM:HR/Ncfsa”
strong=”1419|�������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”1” ”strong=”c/b/5771|���/����������/��/�� x-
morph=”OSHM:HC/R/Ncbpc/Sp1cp” x-cantillationLevel=”0.0.1.3” ”strong=”5414|����������
x-morph=”OSHM:HVNp1cp” x-cantillationLevel=”0.0.1.2” ”strong=”587|����������
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x-morph=”OSHM:HPp1cp” ”strong=”4428|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
”strong=”3548|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.0.1.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”0.0.1.0”
� ”strong=”4428|�������� x-morph=”OSHM:HNcmpc” ”strong=”d/776|���������/��
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”0.0.1” ”strong=”b/2719|������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.0.0.0” strong=”b/7628|��������/���
a” x-morph=”OSHM:HRd/Ncbsa” ”strong=”c/b/961|��������/��/�� x-
morph=”OSHM:HC/Rd/Ncfsa” x-cantillationLevel=”0.0.0” ”strong=”c/b/1322|�������/��/��
x-morph=”OSHM:HC/R/Ncfsc” ”strong=”6440|�������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”k/d/3117|������/��/��� x-morph=”OSHM:HR/Td/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
8 ”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1.2”
”strong=”k/4592|�����/��� x-morph=”OSHM:HR/Ncmsa”�������|strong=”7281”
x-morph=”OSHM:HNcmsa” ”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
”strong=”8467|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.1.1”
”strong=”m/854|����/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”1.1.1.0”
� ”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”1.1.1” ”strong=”l/7604|����������/��
x-morph=”OSHM:HR/Vhc” ”strong=”l|����/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1.0” ”strong=”6413|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/l/5414|���/��/�� x-morph=”OSHM:HC/R/Vqc”���/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” ”strong=”3489|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”b/4725|�������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”6944|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”l/215|�������/�� x-morph=”OSHM:HR/Vhc” strong=”5869|����/�������
a” x-morph=”OSHM:HNcbdc/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.1” ”strong=”c/l/5414|���/������/��/��
x-morph=”OSHM:HC/R/Vqc/Sp1cp” x-cantillationLevel=”0.0.0” ”strong=”4241|���������
x-morph=”OSHM:HNcfsa” ”strong=”4592|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”b/5659|���/���������/��� x-morph=”OSHM:HR/Ncfsc/Sp1cp”
x-cantillationLevel=”0”� 9 strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”5650”
x-morph=”OSHM:HNcmpa” ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
x-cantillationLevel=”1.2” ”strong=”c/b/5659|���/���������/��/�� x-
morph=”OSHM:HC/R/Ncfsc/Sp1cp” x-cantillationLevel=”1.1” 50 We read
one or more accents in L differently from BHQ. 51 52 ”strong=”3808|���� x-
morph=”OSHM:HTn” strong=”5800|���/������� a” x-morph=”OSHM:HVqp3ms/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1” ”strong=”c/5186|����/��� x-morph=”OSHM:HC/Vhw3ms”���/�������|strong=”5921
a” x-morph=”OSHM:HR/Sp1cp” strong=”2617|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2.1.1” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”4428|�������� x-morph=”OSHM:HNcmpc” ”strong=”6539|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.1.0” ”strong=”l/5414|���/���
50C
51C We read one or more accents in L differently from BHQ.
52c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-morph=”OSHM:HR/Vqc”���/����|strong=”l” x-morph=”OSHM:HR/Sp1cp”
”strong=”4241|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.1”
strong=”l/7311|�������/�� a” x-morph=”OSHM:HR/Vmc” x-cantillationLevel=”0.2.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.2.0”
”strong=”c/l/5975|���������/��/�� x-morph=”OSHM:HC/R/Vhc” ”strong=”853|���
x-morph=”OSHM:HTo”�/�����������|strong=”2723” x-morph=”OSHM:HNcfpc/Sp3ms”
x-cantillationLevel=”0.2” ”strong=”c/l/5414|���/���/�� x-morph=”OSHM:HC/R/Vqc”���/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” ”strong=”1447|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”b/3063|��������/���� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0” ”strong=”c/b/3389|������������/��/�� x-
morph=”OSHM:HC/R/Np” x-cantillationLevel=”0”� � 10 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.0.0” ”strong=”4100|��� x-
morph=”OSHM:HTi”���������|strong=”559” x-morph=”OSHM:HVqi1cp”
”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”1.0”
strong=”310|�������� a” x-morph=”OSHM:HR”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC” strong=”5800|���������� a” x-morph=”OSHM:HVqp1cp”
x-cantillationLevel=”0.0” ”strong=”4687|��/���������� x-morph=”OSHM:HNcfpc/Sp2ms”
x-cantillationLevel=”0”� 11 strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6680|��������� x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”1.3.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”5650|��/��������
x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”d/5030|�����������/�� x-
morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.3.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.3” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.2.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
”strong=”935|�������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.2.0”
”strong=”l/3423|��/���������/�� x-morph=”OSHM:HR/Vqc/Sp3fs” x-
cantillationLevel=”1.2” ”strong=”776|������ x-morph=”OSHM:HNcbsc”
”strong=”5079|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1.1”
”strong=”b/5079|�������/��� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0”
strong=”5971|������� a” x-morph=”OSHM:HNcmpc” ”strong=”d/776|���������/��
x-morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1” ”strong=”b/8441|����/�����������/���
x-morph=”OSHM:HR/Ncfpc/Sp3mp” x-cantillationLevel=”0.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”4390|��/�������� x-morph=”OSHM:HVpp3cp/Sp3fs”
x-cantillationLevel=”0.0.0” ”strong=”m/6310|�����/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”413|��� x-morph=”OSHM:HR”������|strong=”6310” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”b/2932|�/���������/��� x-morph=”OSHM:HR/Ncfsc/Sp3mp”
x-cantillationLevel=”0”� 12 ”strong=”c/6258|������/��� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.1.1.1” ”strong=”1323|����/���������� x-morph=”OSHM:HNcfpc/Sp2mp”
x-cantillationLevel=”1.1.1.0” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”5414”
x-morph=”OSHM:HVqj2mp” strong=”l/1121|����/�����/�� a” x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.1.1” ”strong=”c/1323|����/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”408|��� x-morph=”OSHM:HTn”�����������|strong=”5375”
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x-morph=”OSHM:HVqj2mp” strong=”l/1121|����/�����/�� a” x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”������������|strong=”1875”
x-morph=”OSHM:HVqi2mp” ”strong=”7965|�/�������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.0.0” strong=”c/2896|�/��������/�� c” x-morph=”OSHM:HC/Aafsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”4616|��������
x-morph=”OSHM:HR” ”strong=”2388|����������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0.1.1” ”strong=”c/398|�����������/�� x-morph=”OSHM:HC/Vqq2mp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”2898”
x-morph=”OSHM:HNcmsc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/3423|�������������/�� x-morph=”OSHM:HC/Vhq2mp”
strong=”l/1121|����/�����/�� a” x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”5769”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 13 strong=”c/310|���������/��
a” x-morph=”OSHM:HC/R” x-cantillationLevel=”1.2.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�����/���|strong=”d/935” x-morph=”OSHM:HTd/Vqrmsa”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.2”
”strong=”b/4639|����/���������/��� x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”1.1.0” strong=”d/7451|�������/�� a” x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”1.1” ”strong=”c/b/819|���/����������/��/�� x-
morph=”OSHM:HC/R/Ncfsc/Sp1cp” x-cantillationLevel=”1.0” strong=”d/1419|���������/��
a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.1.0” � strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.1.1” ”strong=”2820|������������ x-morph=”OSHM:HVqp2ms”
”strong=”l/4295|��������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”0.1.0”
”strong=”m/5771|���/�������/��� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”c/5414|���������/�� x-morph=”OSHM:HC/Vqp2ms”
”strong=”l|���/���� x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0.0”
”strong=”6413|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”k/2063|�����/��� x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”0”�
14 ”strong=”i/7725|��������/�� x-morph=”OSHM:HTi/Vqi1cp” x-cantillationLevel=”1.2.0”
strong=”l/6565|������/�� a” x-morph=”OSHM:HR/Vhc” ”strong=”4687|��/����������
x-morph=”OSHM:HNcfpc/Sp2ms” x-cantillationLevel=”1.2” strong=”c/l/2859|�����������/��/���
b” x-morph=”OSHM:HC/R/Vtc” x-cantillationLevel=”1.1” strong=”b/5971|�������/���
a” x-morph=”OSHM:HR/Ncmpc” ”strong=”d/8441|����������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.0” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”599|�������� x-morph=”OSHM:HVqi2ms”����/�����|strong=”b”
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”���������|strong=”3615” x-morph=”OSHM:HVpc”
x-cantillationLevel=”0.1” ”strong=”l/369|�����/�� x-morph=”OSHM:HR/Tn”
”strong=”7611|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”c/6413|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”�
� 15 ”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”6662|��������
x-morph=”OSHM:HAamsa” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������������|strong=”7604”
x-morph=”OSHM:HVNp1cp” ”strong=”6413|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” ”strong=”k/d/3117|������/��/��� x-morph=”OSHM:HR/Td/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1”
”strong=”2005|����/���� x-morph=”OSHM:HTj/Sp1cp” ”strong=”l/6440|���/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”0.1.0” ”strong=”b/819|���/�����������/���
x-morph=”OSHM:HR/Ncfsc/Sp1cp” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”l/5975|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0.0” ”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”0”� �10 ”strong=”c/k/6419|������������/��/�� x-morph=”OSHM:HC/R/Vtc”

”strong=”5830|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”c/k/3034|��/�����������/���/�� x-morph=”OSHM:HC/R/Vtc/Sp3ms”

x-cantillationLevel=”1.2” 53 BHS has been faithful to the Leningrad Codex
where there might be a question of the validity of the form and we keep the
same form as BHS. 54 ”strong=”1058|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1.0” ”strong=”c/5307|�����������/�� x-morph=”OSHM:HC/Vtrmsa”
x-cantillationLevel=”1.1” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”6908|����������� x-morph=”OSHM:HVNp3cp” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” ”strong=”m/3478|������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.1.0” ”strong=”6951|������ x-morph=”OSHM:HNcmsa”
strong=”7227|��� a” x-morph=”OSHM:HAamsa”�������|strong=”3966”
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.1” ”strong=”376|����������
x-morph=”OSHM:HNcmpa” ”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfpa”
x-cantillationLevel=”0.1.0” ”strong=”c/3206|��������/��� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”1058”
x-morph=”OSHM:HVqp3cp” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” strong=”7235|�������� a” x-morph=”OSHM:HVha”�������|strong=”1059”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� � 2 strong=”c/6030|�������/��
b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”7935|����������� x-morph=”OSHM:HNp”
strong=”1121|��� a” x-morph=”OSHM:HNcmsc”����������|strong=”3171”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.0” strong=”m/1121|�������/��
a” x-morph=”OSHM:HR/Ncmpc” strong=”5867|���� b” x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 55 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l/5830|��������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.2”
”strong=”587|����������� x-morph=”OSHM:HPp1cp” x-cantillationLevel=”1.1.0”

531
54C We read one or more accents in L differently from BHQ.
55+ strong=”5867|����������� b” x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
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”strong=”4603|���������� x-morph=”OSHM:HVqp1cp” ”strong=”b/430|���/�������/��
x-morph=”OSHM:HR/Ncmpc/Sp1cp” x-cantillationLevel=”1.1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vhw1cp” x-cantillationLevel=”1.0.0” ”strong=”802|��������
x-morph=”OSHM:HNcfpa” ”strong=”5237|������������ x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1.0” strong=”m/5971|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0.0”
”strong=”3426|���� x-morph=”OSHM:HTm”���������|strong=”4723 b”
x-morph=”OSHM:HNcmsa” ”strong=”l/3478|�����������/�� x-morph=”OSHM:HR/Np”
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x-morph=”OSHM:HNcfpa” ”strong=”5237|������������ x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1” ”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0.0”
”strong=”3117|����� x-morph=”OSHM:HNcmsa” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0” ”strong=”l/2320|�������/��
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7223|���������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”0”� � 18 ”strong=”c/4672|����������/�� x-morph=”OSHM:HC/VNw3ms”
x-cantillationLevel=”1.1.0” strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3427|����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0” ”strong=”802|��������
x-morph=”OSHM:HNcfpa” ”strong=”5237|������������ x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1” strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
57We read one ormore accents in L differently from BHQ. 58 ”strong=”3442|���������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�����������|strong=”3136
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0” ”strong=”c/251|�/������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”4641|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/461|�����������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1” ”strong=”c/3402|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” strong=”c/1436|����������/��
57C
58c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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a” x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 19 ”strong=”c/5414|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”l/3318|��������/�� x-morph=”OSHM:HR/Vhc”
”strong=”802|����/������ x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”1”
”strong=”c/818|����������/�� x-morph=”OSHM:HC/Aampa” strong=”352|�����
a” x-morph=”OSHM:HNcmsc”������|strong=”6629” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�/�����������|strong=”819”
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0”� � 20 strong=”c/m/1121|�������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc” ”strong=”564|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”2607|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”c/2069|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� � 21 strong=”c/m/1121|�������/��/�� a” x-
morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”1.0” ”strong=”2766|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”4641|�����������
x-morph=”OSHM:HNp” ”strong=”c/452|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1.0” ”strong=”c/8098|������������/��� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1” ”strong=”c/3171|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/5818|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� 22 strong=”c/m/1121|�������/��/�� a” x-morph=”OSHM:HC/R/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”6583|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”454|�������������� b” x-morph=”OSHM:HNp”
”strong=”4641|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”3458|������������ x-morph=”OSHM:HNp” ”strong=”5417|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”3107|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/501|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� � 23 strong=”c/4480|����/��
a” x-morph=”OSHM:HC/R”���������/���|strong=”d/3881” x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”1” ”strong=”3107|��������� x-morph=”OSHM:HNp”
”strong=”c/8096|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.1”
”strong=”c/7041|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0”
”strong=”1931|����� x-morph=”OSHM:HPp3ms” ”strong=”7042|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”6611|������������
x-morph=”OSHM:HNp” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”c/461|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� � 24 strong=”c/4480|���/�� a” x-morph=”OSHM:HC/R”������������/���|strong=”d/7891”
x-morph=”OSHM:HTd/Vormpa” x-cantillationLevel=”1.0” ”strong=”475|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/4480|���/�� a”
x-morph=”OSHM:HC/R”������������/���|strong=”d/7778” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1” ”strong=”7967|�������� x-morph=”OSHM:HNp”
”strong=”c/2928|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/221|�������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
� 25 ”strong=”c/m/3478|������������/���/�� x-morph=”OSHM:HC/R/Np”
x-cantillationLevel=”1” strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”6551|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0.1”
”strong=”7422|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0.0”
”strong=”c/3150|����������/�� x-morph=”OSHM:HC/Np” ”strong=”c/4441|������������/��
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x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1.0” ”strong=”c/4326|���������/��
x-morph=”OSHM:HC/Np” ”strong=”c/499|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.1” ”strong=”c/4441|������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/1141|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� � 26 strong=”c/m/1121|�������/��/�� a” x-
morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”1.0” strong=”5867|�������
b” x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”4983|�����������
x-morph=”OSHM:HNp” strong=”2148|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”c/3171|��������/�� x-morph=”OSHM:HC/Np”
”strong=”c/5660|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1”
”strong=”c/3406|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/452|���������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
� 27 strong=”c/m/1121|�������/��/�� a” x-morph=”OSHM:HC/R/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”2240|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”454|������������� b” x-morph=”OSHM:HNp”
”strong=”475|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”4983|����������� x-morph=”OSHM:HNp” ”strong=”c/3406|��������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1” ”strong=”c/2066|������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/5819|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� � 28 strong=”c/m/1121|�������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”1.0” ”strong=”893|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”3076|�����������
x-morph=”OSHM:HNp” strong=”2608|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”2079|������� x-morph=”OSHM:HNp”
”strong=”6270|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 29 strong=”c/m/1121|�������/��/�� a” x-morph=”OSHM:HC/R/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”1137|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”4918|���������� x-morph=”OSHM:HNp”
strong=”4409|��������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”c/5718|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1”
”strong=”3437|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/7594|�������/�� x-morph=”OSHM:HC/Np” ”strong=”3406|�����
x-morph=”OSHM:HNp” x-wType=”x-ketiv” 59 �� 30 strong=”c/m/1121|�������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”1.0.0” ”+strong=”6355|�������
x-morph=”OSHM:HNp” ”strong=”6355|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”5733|�������� x-morph=”OSHM:HNp”
”strong=”c/3636|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
”strong=”1141|��������� x-morph=”OSHM:HNp” ”strong=”4641|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”4983|�����������
x-morph=”OSHM:HNp” ”strong=”1212|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/1131|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”c/4519|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0”� � 31 strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc”

59+ ”strong=”c/3406|�������/������� x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0”
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x-cantillationLevel=”1.0” ”strong=”2766|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”461|����������� x-morph=”OSHM:HNp”
”strong=”3449|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”4441|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”8098|������������ x-morph=”OSHM:HNp” ”strong=”8095|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 32 ”strong=”1144|�����������
x-morph=”OSHM:HNp” 60 We agree with both BHS 1997 and BHQ on an un-
expected reading. strong=”4409|��������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”8114|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 33 strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”1.0” ”strong=”2828|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”4982|��������� x-morph=”OSHM:HNp”
”strong=”4992|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”2066|������ x-morph=”OSHM:HNp” ”strong=”467|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”3413|��������
x-morph=”OSHM:HNp” ”strong=”4519|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”8096|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 34 strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”1137|������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”4572|�������� x-morph=”OSHM:HNp” ”strong=”6019|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/177|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� � 35 ”strong=”1141|���������
x-morph=”OSHM:HNp” ”strong=”912|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”3622|���� x-morph=”OSHM:HNp” x-
wType=”x-ketiv” 61 � 36 ”strong=”2057|�������� x-morph=”OSHM:HNp”
”strong=”4822|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”475|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
37 ”strong=”4983|����������� x-morph=”OSHM:HNp” ”strong=”4982|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/3299|����/�
x-morph=”OSHM:HC/Np” x-wType=”x-ketiv” 62 � 38 ”strong=”c/1137|������/��
x-morph=”OSHM:HC/Np” ”strong=”c/1131|��������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”8096|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 39 ”strong=”c/8018|������������/�� x-morph=”OSHM:HC/Np”
”strong=”c/5416|������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”c/5718|��������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”�
40 ”strong=”4367|������������ x-morph=”OSHM:HNp” ”strong=”8343|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”8298|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 41 ”strong=”5832|����������
x-morph=”OSHM:HNp” ”strong=”c/8018|�������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”8114|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 42 ”strong=”7967|��������� x-morph=”OSHM:HNp”
”strong=”568|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
60U
61+ ”strong=”3622|�������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”
62+ ”strong=”c/3299|���������/������/� x-morph=”OSHM:HC/Np” x-
cantillationLevel=”0”
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”strong=”3130|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 43 strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc” x-
cantillationLevel=”1.0” strong=”5015|������ a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”3273|��������� x-morph=”OSHM:HNp”
”strong=”4993|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”2066|������ x-morph=”OSHM:HNp” ”strong=”2081|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”3035|��� x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 63 ”strong=”c/3100|�������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”1141|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 44 ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”1.1” ”strong=”5375|�/���
x-morph=”OSHM:HVqp3ms/Sp1cs” x-wType=”x-ketiv” 64 65We read one or
more consonants in L differently from BHQ. 66 ”strong=”802|�������� x-
morph=”OSHM:HNcfpa” ”strong=”5237|������������ x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1” ”strong=”c/3426|�����/�� x-morph=”OSHM:HC/Tm”
”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp” ”strong=”802|��������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1” strong=”c/7760|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” strong=”1121|��������
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� �

63+ ”strong=”3035|���������� x-morph=”OSHM:HNp”
64+ ”strong=”5375|����������/��� x-morph=”OSHM:HVqp3cp” x-
cantillationLevel=”1.0”
65K
66k We read one or more consonants in L differently from BHS.


